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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A clock has a continuously moving
second’s hand of 0.1 m length. The
average acceleration of the tip of the hand
(in units of ms ~2) is of the order of :

Options :
40503641541, 10

40503641542, 1072

40503641543, 104

40503641544, 10

Question Number : 1 Question Id : 40503611456 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
1
40503641541, 10

40503641542, 10

40503641543, 104

[

40503641544, 10

Question Number : 2 Question Id : 40503611457 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An insect is at the bottom of a
hemispherical ditch of radius 1 m. It
crawls up the ditch but starts slipping after
it is at height h from the bottom. If the
coefficient of friction between the ground
and the insect is 0.75, then h is :
(g=10 ms—2)

Options :

40503641545, U-45m

40503641546, U-20 m

40503641547, 060 m

40503641548, 80 m
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Question Number : 2 Question Id : 40503611457 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
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40503641545, U-45m

40503641546, 0-20 m

40503641547, 060 m

40503641548, 80 m
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Four point masses, each of mass m, are
fixed at the corners of a square of side .
The square is rotating with angular
frequency w, aboutan axis passing through
one of the corners of the square and parallel
lo its diagonal, as shown in the [igure. The
angular momentum of the square about
this axis is :

_t&
P

Options :

40503641549, MW

40503641550, 3 mPw
£l

40503641551, 2 miw

40503641552, 4 Mo
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Options :

40503641549, MW

40503641550, 3 mPw
&)

40503641551, 2 mi~w

40503641552, 4 mPw

Question Number : 4 Question Id : 40503611459 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Shown in the figure is a hollow icecream
cone(it is open at the top). If its mass is M,
radius of its top, R and height, H, then its
moment of inertia aboul ils axis is:

Options :
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M(R2 + H?)

40503641556. 4

Question Number : 5 Question Id : 40503611460 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A satellite is in an elliptical orbit around a
planet I°. It is observed that the velocity of
the satellite when it is farthest from the
planet is 6 times less than that when it is
closest to the planet. The ratio of distances
between the satellite and the planet at
closest and farthest points is :

Options :

= o

40503641557, 1

40503641558, 1:3

I3

40503641559, 1

40503641560, 2 4

Question Number : 5 Question Id : 40503611460 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : 6 Question Id : 40503611461 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An object of mass m is suspended at the
end of a massless wire of length L and area
of cross-section, A. Young modulus of the
material of the wire is Y. If the mass is
pulled down slightly its frequency of
oscillation along the vertical direction is :

Options :
1 |mA
f=—o |
, E:r"\,ll YL
40503641561.
,F—i mL
o ¥ Vs
40503641562. 2w VYA
_1 YA
L
40503641563, -7 'mb
1 {YL
J'r=— [—
’ T /
40503641564 27 VmA
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Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Question Number : 7 Question Id : 40503611462 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Molecules of an ideal gas are known to have
three translational degrees of freedom and
two rotational degrees of freedom. The gas
is maintained at a temperature of T.

The total internal energy, U of a mole of

[~ g
this gas, and the value of ‘.-'[: C—P] are

given, respectively, by :

Options :
6
U=5RT and v=—
40503641565. o
- - -
40503641566 U=3RTandy=5
5 7
Li=;RT and S
40503641567. 2
) 7
U=-5RTand'\,r=g
40503641568.
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U=5RT 99T y=—
40503641565, 5
5 6
U==RT Wly=7
40503641566. = o
5 7
U= ;RT a9l y= —
40503641567. 2 5
) 7
U=5RT 99l v= 5
40503641568.

Question Number : 8 Question Id : 40503611463 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the potential energy between two
, = A B
molecules is given by U= - — + —,
- rﬁ- I,1._

then at equilibrium, separation between
molecules, and the polential energy are :

Options :
2B)'6 A2
40503641569, '*J | 4B
(0BV6 A2
v
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A sound source S is moving along a
straight track with speed v, and is emitting
sound of frequency v, (see figure). An
observer is standing at a finite distance, at
the point O, from the track. The time
variation of frequency heard by the
observer is best represented by :

(ty represents the instant when the distance
between the source and observer is

minimum)
Options :
K
l.-'n _______________________
40503641573. o t
|8
9 2 -
40503641574, ot
v
L e nmmmes i At
"'x._q__ ! __f,,f'“
’Ifﬂ ;l'
40503641575.
v
T R
t t
40503641576.
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Charges Q, and Q, are at points A and B of
aright angle triangle OAB(see figure). The
resultant electric field at point O is
perpendicular to the hypotenuse , then

Q,/Q; is proportional to :
Qi
N

Options :

40503641577. "~ =

40503641578.
40503641579.

40503641580.

Question Number : 10 Question Id : 40503611465 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
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40503641579, 2
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Correct Marks : 4 Wrong Marks : 1

For the given input voltage waveform
V., (t), the output voltage waveform V (t),
across the capacitor is correctly depicted

by :
1 kO
o ."_.-""-_-_.r"‘-.___.-’\_ o
+o¥ 5 s
% ll:lnF::l V,(t)
----- . pamtad M
0 | 5
Options :
Volt)
A e e e
2 V _,-"'- -E_ N -EI i
40503641581 Sps 10us 1ops t
V()
2 1\‘? ___-:.?F':--______::-'T-
/// EK f,/ i
/ NS i
40503641582. ops Wus 15ps ¢
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Correct Marks : 4 Wrong Marks : 1
o ™ FaEfE Jees V, () F @@ 'Y %
ford Fenfer o i Jieest V(1) & 909 =

el F9 B
1k0
o TAVAVAY o
+5V 5 ia T
" 10 nF ::l V()
_____ [ - - G
v k53! Jr
ﬂ o Lt
Options :
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SR e e e
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Correct Marks : 4 Wrong Marks : 1

A particle of charge g and mass m is

moving with a velocity 11.4:(114—'_[]]

lowards a Earge SCreen placed in the Y-Z
plane at a distance d. If there is a magnetic

field B = By k , the minimum value of v for

which the pa_rti-::le will not hit the screen
15:

Options :
qdBy
40503641585. M

| qdBp

40503641586, M

2qdBg

40503641587. M

qdBy

40503641588, ™
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Options :

40503641585, M

| qdBp

40503641586, 2Mm

2qdBy

40503641587. M

qdBg

40503641588, ™

Question Number : 13 Question Id : 40503611468 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An electron is moving along + x direction
with a velocity of 6 X 108 ms L Ttentersa
region of uniform electric field of
300 V/cm pointing along +y direction.
The magnitude and direction of the
magnetic field set up in this region such that
the electron keeps moving along the x
direction will be :

Options :

3 . - )
40503641589. 5x107°T, along + z direction

3 ogE
40503641590, 21077 T, along —z direction
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4 o
40503641591, 3% 107 *T,along —z direction

3 4T . 45 direct
40503641592, 1077 T, along +z direction
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U Toleid +x M H 6100 ms ™~ ! =i =1a
¥ 9d W 81 g +y 7w A e 9
300 V/cm % U THM SE4 45 H g9
€| Afe seraA « fawn | & =W e € 95
TIA W I GEEEE 99 F A AR
fam 2

Options :

40503641589, 5 X103 T, +z feam 3

3 e 5
40503641590, 5 X107 3T, —z femm 4

4 S, o
40503641591, 2 <1077 T, —z TR H

4 o I
40503641502, 3 X107 4T, +z Tezm
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Correct Marks : 4 Wrong Marks : 1

An AC circuit has R=100 {}, C=2 pF and
L =80 mH, connected in series. The quality
factor of the circuit is ;

Options :
40503641593, +00

40503641594. 20

40503641595, 2
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TH AC 999 § R=100 ), C=2 uF d=:
L=80 mH #vitrg & o wen &1 ufay
1 T[OI FF €

Options :

40503641593, U0

40503641594. 20

()

40503641595.

40503641596, 0.5
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A point like object is placed at a distance
of 1 m in front of a convex lens of focal
length 0.5 m. A plane mirror is placed at
a distance of 2 m behind the lens. The
position and nature of the final image
formed by the system is:

Options :

40503641597, 2.6 m from the mirror, real
40503641598, 2.6 m from the mirror, virtual
40503641599, 1 m from the mirror, virtual

40503641600. 1 m from the mirror, real
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Options :

40503641597, 5191 H 2.6 m, FARTITH

40503641598, =d91 H 2.6 m, STHIHI

40503641509, T § 1 m, SHR

40503641600, =101 | 1.m, EIeEED

Question Number : 16 Question Id : 40503611471 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[n the figure below, P and Q are two equally
intense coherent sources emitting radiation
of wavelength 20 m. The separation
between P and Q is 5 m and the phase of P
isahead of that of Q by 90°. A, Band C are
three distinct points of observation, each
equidistant from the midpoint of PQ. The
intensities of radiation at A, B, C will be in

the ratio :
TB
P
t ____________ -_J_g ___________ Y
C
Options :

40503641601, 2:1:0

40503641602, V:1:4
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40503641603, +:1:0

40503641604, 0:1:2
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o= # femrd =99R tF 99F diEd Je
TG A P 991 Q, 20 m TS &
faferzor smafsg #2d €1 P 91 Q & =19 =i
235 m, & 991 P &1 Fell Q il el & 90° 27T
T PQFAAfAg AdAfAT A B SR C
o g W fem 1 A, B 99 ¢ W fafam
=1 a1 S S

*+B
5 |
[ R D l-il-g ----------- - A
C
Options :

40503641601, 2:1:0
40503641602, V:1:4

40503641603, +:1:0

I3

40503641604, 0:1:
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An electron, a doubly ionized helium ion
(He™ *) and a proton are having the same
kinetic energy. The relation between their
respective de-Broglie wavelengths k.
Aye+ + and hpis:

e

Options :
www.FirstRanker.com
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(He* +) 1 W& 92A &l Tasl el JHH 2 |
T S-ATE! TG, A, Ay, + 4 ?rmh?,%

o T T

Options :

N <h <k L 4
40503641605, ¢ P He

P T .
40503641606, € He P

M =k =M L4
40503641607. ¢ P He

T P,
40503641608, € e P

Question Number : 18 Question Id : 40503611473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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You are given that Mass of g Li = 7.0160 u,
Mass of 311c =4.0026 u
and Mass of 111 =1.0079 u.

When 20 g of gLi is converted into :13_| lo
by proton capture, the energy liberated, (in
kWh), is:

[ Mass of nucleon=1 GeV/c?]

Options :
; 5
40503641609, 0-82x10

40503641610, 4:5%10°
40503641611, 1.33x10°

40503641612, 8x10°

Question Number : 18 Question Id : 40503611473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fen® i w1 == 701604,
A1e T EFHR=4.0026 u
T 11 o FeAA = 1.0079 u.
w4 20 g-gLiﬁT e[ AREEY R élie 7
Teel T 2, kWh, H §od 391l @ :

[ Mass of nucleon=1 GeV/c?]
Options :

; 5
40503641609, 0-82x10
40503641610, +:5%10°
40503641611, 1.33x10°

_8x106

4

o
O
[

S0264
204

N
)N
=
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Question Number : 19 Question Id : 40503611474 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the correct output signal Y in the
given combination of gates (as shown) for
the given inputs A and B.

L
Ao Do T 1/ Y

=
.:l._

o
ek
o B et EEE TR
=t
wn
)
=
— %

B f
H | [T
Options :
0 Ld i,
40503641613.
: :':l
40503641614
. F‘} : : i
it
40503641615.
: : : |
[ = (_;L (_;L gu !
40503641616. 2

Question Number : 19 Question Id : 40503611474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(fem@ smr) &8 ™ A IR B f&si =+
fou, feu gu e FareE |, i faa Y =

T2 HE TG AT

Be ;«: |__.\‘n
F_"p—-

Ae s [ R Y

B —
B | ;
5 10 15 20 ¢
Options :
F Y
ai I
40503641613,
: :':l
40503641614
[ | : ! 5
| | ] ot
40503641615,
: : : |
'|[ ; ’_‘1lﬂ ’_1‘5 ;:1:::‘1;l
40503641616. 2

Question Number : 20 Question Id : 40503611475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A screw gauge has 50 divisions on its
circular scale. The circular scale is 4 units
ahead of the pitch scale marking, prior to
use. Upon one complete rotation of the
circular scale, a displacement of 0.5 mm is
noticed on the pitch scale. The nature of
zero error involved, and the least count of
the screw gauge, are respectively :
www.FirstRanker.com
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Options :
40503641617, Lositive, 10 pm

40503641618, Lositive, 0.1 pm

40503641619, [Negative, 2 um

40503641620, Positive, 0.1 mm

Question Number : 20 Question Id : 40503611475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o T () 3 e S 0 o
&1 wEm | ved, g9 = e e F e
T 4 THE A S A T F UF T T
% 415 T TH H 05 mm 1 fae=me S
AT R | H 9 S T U a9 e
ATTHIF T ;
Options :

40503641617, T, 10 pm

40503641618, A, 0.1 um

EIRIED ]
40503641619. b ey

&
40503641620. HcHSR, 0.1 mm

Sub-Section Number : 2
Sub-Section Id : 405036804
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 40503611476 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The dn:-nsit}-' of a solid metal sphere is
determined by measuring its mass and its
diameter. The maximum error in the

3

J %. If the

. . X
density of the sphere is {1{){]

relative errors in measuring the mass and
the diameter are 6.0% and 1.5%
respectively, the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 21 Question Id : 40503611476 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

2 91 % UF el & T H I9H ZATH
YT = G T FG & | 9fE e ae
=9 F 999§ [rge Afe w99 6.0% SR
1.5% % @ e & =AW q SAadad e
x )

1% & AR xFAAE .

1~. 100/

i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 22 Question Id : 40503611477 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Two bodies of the same mass are moving,
with the same speed, but in different
directions in a plane. They have a
completely inelastic collision and move
together thereafter with a final speed which
is half of their initial speed. The angle
between the initial velocities of the two
bodies (in degree) is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 22 Question Id : 40503611477 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

U THA ZEEE & 91 fove fedl weae |

M =1 4, T fafim fammedi 8, nfqam 2

9T 98 eF1 Ush 1Y AT ARSI =916 &

st =@ | oA 2 g1 2F vl &

srfeys 9 & 99 w0 (fzut ®) 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 40503611478 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Initially a gas of diatomic molecules is
contained in a cylinder of volume V[ ata
pressure P, and temperature 250 K.
Assuming that 25% of the molecules get
dissociated causing a change in number
of moles. The pressure of the resulting gas
at temperature 2000 K, when contained
in a volume 2V 1 is given by Pz' The ratio
P,/P, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 40503611478 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

arE P, 941 A19HH 250 K R /A V, % 0%
o H TG ) & U T w2
I OFd 23 T 21veit =01 fairee 25% & forad
o et =i de=n | 9fgdd 2 €, 79 e
2000 K W 2V, 3146 & TF I § 2= P, T
ST P,/P, FAAE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 24 Question Id : 40503611479 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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A part of a complete circuit is shown
in the figure. At some instant, the value of
current [is 1 A and it is decreasing at arate
of 10A s~ 1. The value of the potential
difference VP - VQ, (in volts) at that instant,

OmH I R=2(}

' 5“*:§_._} — AAAAAAL—e
& 30V Q

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 24 Question Id : 40503611479 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

ot # ol T 0l 99 % U& 9 & faam
T # | TR e, SR AA 1A T AT
102A s~ 1 I AT W 2 | FH 9o, FAsam=n
Vp—V ®1 HA (FIe2 ) gm
_LMOmil Ro20
J 30V

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 25 Question Id : 40503611480 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Suppose that intensity of a laser is

(315) :
lTJ W/m=. The rms electric field, in

units of V/m associated with this source
is close to the nearest integer is

(q=8.86x10"12 C2Nm 2, ¢=3x10%
ms 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 25 Question Id : 40503611480 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

5 315}
A o SIS g i gl {T,J W/ m?2
%’I Wﬁﬁ%ﬁﬂﬁm&ﬁ@ﬂﬁﬁﬂﬁﬂﬁmﬂ
A V/m %1 %% § Tiweaq quis § #

(g=8.86x10"12 C2Nm~2% ¢=3x10%
ms IJ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Chemistry
Section Id : 405036419
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25

Number of Questions to be attempted : ) 25
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Section Marks : 100

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 405036805

Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503611481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The increasing order of pK,, values of the

ff}ﬂnwing cc‘-mpounds is:

P(CI'IJ}E N(CHz), NHCH,; NHCH;
B ; i
-\-H"""-\-\.

-

DEADI® ®

- . \. - Y

CN
OCH,

I I I v
Options :
40503641626, L < <IV<II

40503641627, U< I<HI<IV

40503641628, L < <MHI<IV

40503641629, L <IV <Il<I

Question Number : 26 Question Id : 40503611481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1 ATt & pK,, F A 1 =5 HH ¢ :

E‘i Hj), N(CHy); JT:-JHE Hy  NHCH;

r , S » o %:2‘:_
1 ) L‘u:-‘«’ﬁ:'\‘\. “n:ﬁ:’L
DCI i
I I I \Y

Options :

40503641626, L= <IV<II

40503641627, 1< I<HI<IV

40503641628, < <M<V

T
40503641620, NIV <Ill<l

Question Number : 27 Question Id : 40503611482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The major products of the following
reaction are :
L Hs

CH; CH CH CH, (i) KOBu /A
DQDZ(:‘H (ii) 031"1"2‘3’2

Options :

CH,
[ + HCOOH

- S
CH3~ “COOH
40503641630.

+ CH;COOH

Cl
40503641631.
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CH,
+ HCHO
. -

H. A e,
40503641632 2 CHO

J + CH;CHO

40503641633, 2 O

Question Number : 27 Question Id : 40503611482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 srfuferan % 9= 3= ©

CH;
CH;— CH- CH—CHs f'ﬁ KO'Bu /A |

Options :

CH,
[ + HCOOH

CHy;” ~COOH
40503641630.

CH,
+ CH;COOH

T

CHY
40503641631, ° o

CH,
+ HCHO
. -

H. A e,
40503641632, 2 CHO

CHj,
| 7+ aneno

CH P “1;?%
40503641633, ° O

Question Number : 28 Question Id : 40503611483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
—Orientatiom—Vertical
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Correct Marks : 4 Wrong Marks : 1

Consider the fcrﬂnwf_ng reactions :

[ ﬁkl ::’LD”D! \-'Si.‘ll !BI | |{:|
(CoHqy)

‘B EIE+TaDH} » yellow ppt

Ag;_rﬂ
A

{12+ NalH)
" The vellow ppt
o - gives white
: ~  turbidity
LiAlH Anhydrous Zn(l :
I i, Sl s 2, within 5
& Cun::. EIC] T-|'|_'i]-|-|_]1_{uq

» silver mirror

‘Ais:
Options :

40503641634, ~

40503641635, S .

40503641636.

40503641637.

Question Number : 28 Question Id : 40503611483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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= wfufEmes © fa=r Fifew

_'A' ozonolysis JB 4+ 'C
(GHyy)

G NeOH) e

TED , THe 2907

{_L’-J’P;“ﬂ.q’% FFET F FF e

S 5 fimz 1
LiAlH, - frsfet ZnCly HHG
- - &ERE HCL wArferaan
T BT
2
AR
Options :
PN P e
g "\Qtﬁ_ .____.-"" Mg L HH"'\-\..__
40503641634. - - '
.___,-""' 3 Hi‘tl L & ﬁ&h"ﬁ.x . "-"-f
40503641635. - = o
P ~ -
,-*’f#.r T~ ,-*ff-} MH‘*H_ Fa

40503641636.

40503641637.

Question Number : 29 Question Id : 40503611484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major pmduct of the £ Dl}nwing reaction

is:
CH,
2HBr
E—
NO,
Options :
CH,
~Br
Br
40503641638, e
Br cH,
Ti
40503641639. ND,
CH,
i ~Br
/ TBr
40503641640. N0y
H,C
Noz
40503641641,
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Question Number : 29 Question Id : 40503611484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 srfufsran 1 987 5E 2

CH,
2HBr
—_—
NO,
Options :
CH,4
~Br
Br
40503641638. N
Br _cH;,
NO,
40503641639.
CHj
i ~Br
[ Br
40503641640. NOs
HC
40503641641, 2
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Question Number : 30 Question Id : 40503611485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider the Assertion and Reason given
below.

Assertion (A): Ethene polymerized in
the presence of Ziegler Natta Catalyst at
high temperature and pressure is used to

make buckets and dustbins.

Reason (R): High density polymers

are closely packed and are chemically inert.

Choose the correct answer from the

following :
Options :

Both (A) and (R) are correct and (R)

40503641642, 5 the correct explanation of (A).
Both (A) and (R) are correct but (R)

40503641643, not the correct explanation of (A).

40503641644 (A) is correct but (R) is wrong,

(A) and (R) both are wrong,.
40503641645.

Question Number : 30 Question Id : 40503611485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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= fo8 T3 HUH 99 F0T T 5= Fifeu |
FIT(A): I 99 qG1 I T ST
IeqTeh i STRAfd H UHH % Agerhigd oF A
T 9T 31 SUATT 9ehe (Siedl ) a9 2=2faq
F T H B
FUT(R) : 35 = 91 T (Fgeh)
Hgaal | HEHfew o ¢ 791 TEEAE g 9
FerHH B E
= o 9 wd 3w 9
Options :

(A) T (R) ST HE € 7901 (R), (A) i
40503641642, & AT €

(A) 791 (R) =1 & 9= & T (R), (A)
40503641643, P Tl =T TE T

10503641644, (A) T T (R) T €1

10503641645, (A) T (R) Zi & er 24

Question Number : 31 Question Id : 40503611486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The major pmduct obtained from the

following reaction is :

A N o, SR o | <k & G
OaMN— () »C= ) ? :
s _\_\;.__.f C C_(\ L -"}_{-}CII'}T}
Options :
0 __OCH;
40503641646, O
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_OCH;
]
s
O,N
40503641647. *
ﬁ _~OH
ON
40503641648.
_OH
1
P @)
40503641649, V2

Question Number : 31 Question Id : 40503611486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 srfufean & wra 29 9en 95 39E #
SN A 72 |
0N~ O c=c< O yoa |3M
%, o ) HEU

Options :

‘ﬁ _OCH,
40503641646, 2
_OCH,
Il
(8
N
40503641647, *

~OH

O,N
40503641648.
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_OH

~y—

40503641649, YN

Question Number : 32 Question Id : 40503611487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds shows
geometrical isomerism ?

Options :

40503641650. 2Z-methylpent-1-ene

) 3 5
40503641651, >-methylpent-2-ene

40503641652, Fmethylpent-1-ene

10503641653, Fmethylpent-2-ene

Question Number : 32 Question Id : 40503611487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= 9 9 #19 m afe sfadaE gerEgET
HefeTd e 2 7

Options :

40503641650, 2~ TTATI2-1-51

40503641651, 2-TITT=-2-57
40503641652, - HIAETT=-1-53

A TOfeg=.08
40503641653. 4-HfS e

Question Number : 33 Quesfion Id : 40503611488 Question Type : MCQ Opftion Shuffling : Yes
www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The set that contains atomic numbers of
only transition elements, is :

Options :

40503641654, 21,2542, 72

40503641655, % 17,34, 38

47 .
40503641656, -7+ 42,90, 64

40503641657, 21, 32,93, 64

Question Number : 33 Question Id : 40503611488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T Y2 foa] A Heham g il W] e
1 THEY €, ET

Options :

40503641654, 21:25,42,72

40503641655, 17,34, 38

40503641656, /42,50, 64

40503641657, 21,32,53, 64

Question Number : 34 Question Id : 40503611489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement is :
Options :

40503641658. bronze is an alloy of copper and tin.
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german silver is an alloy of zinc,
40503641659, copper and nickel.
cast iron is used to manufacture

40503641660, Wrought iron.

brass is an allov of copper and nickel.
40503641661. :

Question Number : 34 Question Id : 40503611489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TAd F919 ©
Options :
40503641658, 1, FTT 7N 17 i 0 g 21

T Toeam, T, S 991 fFa =
40503641650, P AT
T FETA (firedl @) & A s
10503641660, T (TN TilET) FEHT B E

40503641661, T TN T TR 1 T fAag 2|

Question Number : 35 Question Id : 40503611490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the sulphates of alkaline earth
metals, the solubilities of BE‘SD4 and MgED4
in water, respectively, are :
Options :
40503641662, 1igh and high

40503641663, POOr and high

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503641664, Migh and poor

poor and poor
40503641665.

Question Number : 35 Question Id : 40503611490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT 931 911 = Hewhe = =14, 5l 94 BeSO,
T MgSO, it TeTeiteral oL ¥ :
Options :
40503641662, 5 a1 5

40503641663, —1C1 a1 3=

40503641664, 53 a4 ST

40503641665. o

Question Number : 36 Question Id : 40503611491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct statement with respect to

dinitrogen is :
Options :

liquid dinitrogen is not used in

40503641666, ) O SHIBELY:

it can be used as an inert diluent for
40503641667, reactive chemicals.

it can combine with dioxygen at

40503641668, 22 .

. o .
40503641669, Nz 15 paramag‘netu 1n nature.
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Question Number : 36 Question Id : 40503611491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
EEAE2Ie = des H Tl e a0
Options :
T3 STEASEISA H1 YA FHTEES
40503641666, (T TSHT) F T 2 €

40503641667, T3P 6 T H T fRA S HHA 2l
g 25 °C T EEHAFIE & =9 TG40

40503641668, FX T €1

N, 1 95fd sqg==14 |

40503641669.

Question Number : 37 Question Id : 40503611492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The lanthanoid that does NOT show +4
oxidabion state is :
Options :
40503641670. Dy

40503641671, Eu
40503641672, 1b

40503641673, <€

Question Number : 37 Question Id : 40503611492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TE RIS Al + 4 SEEET s TE
eferd I & 20T

Options :

40503641670, Y

40503641671, Eu
40503641672, 1P

40503641673, <€

Question Number : 38 Question Id : 40503611493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The species that has a spin-only magnetic
moment of 5.9 BM, is :

(T ;= tetrahedral)
Options :
40503641674, VHEO)s (Tg)

40503641675, L MABral= (Ty)

20503641676, INICLI™ (Ty)

40503641677. [Ni(CN),J*" (square planar)

Question Number : 38 Question Id : 40503611493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T8 TS 999 5.9 BM &1 7597 713 9994
[Ty=(2zRe) FqoFasid]

Options :

40503641674, e tld) _
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[MnBr, 2~ (T)

40503641675.
40503641676, INICLl™ (Ty)
20503641677, LVHEN) 4" (=t Heeredt)

Question Number : 39 Question Id : 40503611494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The presence of soluble fluoride ion upto
1 ppm concentration in drinking water, is :

Options :

40503641678, Safe for teeth

40503641679, harmiul for teeth

40503641680. harmful to bones

40503641681, harmful lo skin

Question Number : 39 Question Id : 40503611494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T 9 H 1 ppm HEAl F AAIA FANGE
HAFA 1 I 2

Options :

40503641678, 1l o TeTe HAET

40503641679, 1 o 1T BT

40503641680, B h TTC BIHITH

40503641681, 1 T IC1E vl _
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Question Number : 40 Question Id : 40503611495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A solution of two components containing
n, moles of the 15t componentand n, moles
of the 2"d component is prepared. M, and
M, are the molecular weights of component
1 and 2 respectively. If d is the density of
the solution in g mL 1, C, is the molarity
and x, is the mole fraction of the 2nd

component, then C, can be expressed as :

Options :
S My txp (My — My)
40503641682. 2 .
| x
= Moy + L([‘-.,E*I M, )
; o — ML
40503641683, 2 el 1
Y d J[?l M
A [ ) .
40503641684, 2. F X3 (M3 1)
. 1000 x
40503641685. 1 +xa (My — My)

Question Number : 40 Question Id : 40503611495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 EFE w1 UF faeed € S oo, 9w 5Em
HAaFd 91 n, Al GaE FEga ® HerE
R foFem T 21 wEEd 1 991 H9UE 2 F
SR FA: M, 9 M, g1 3fg faerem =
g7 (g mL fﬁ]d%ﬂmfﬁ?ﬁ'ﬂmﬂﬁ
Herdl C, U8 O J9i¥ x, & @ C, &1 59
R AT T T4 ¢ ;
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Options :
= [""11 | Xy {["51-1 hlf ]
40503641682. 2 .
l x
Gy = = '~ﬂ5I T
; ¥ — ML
40503641683, 2 TR 1
27w d J[?l M
A [ ) .
40503641684, 2. F X3 (M3 1)
. 1000 x
40503641685. 1 +xa (My — My)

Question Number : 41 Question Id : 40503611496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The variation of equilibrium constant with

temperature is given below :

Temperature Equilibrium Constant
T,=25°C K,=10
T,=100"C K,=100

The values of AH®, AG”at T; and AG®at T,
(in k] mol~ 1) respectively, are close to

[use R=8314 J K~ ! mol ]

Options :

40503641686, O-0% —714and =5.71

40503641687, 284 —571and —14.29
40503641688, 254 —7.14and —35.71

40503641689, 0-64 —571and —14.29

Question Number : 41 Question Id : v‘\‘/%v%éllrls"t%gagf%eesrt.lggrgype : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
a9 % 9y 9r fers &1 9ftads A= T

W%:
B=25% K,=10
T,=100°C K,=100

AH°, T, T AG® @91 T, W AG® % HM
(k] mol~ 1 H) awr: f9=1 % af=re 2
[R=8.314] K !mol ]

Options :

40503641686, 064 — 7147 —5.71
40503641687, 254 —571TH —14.29
40503641688, ~ord — 714 T =571
40503641689, 0-64, —571TF —14.29

Question Number : 42 Question Id : 40503611497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the reaction

Fe,N(s) + %H?_{g} = 2 Fe(s) + NHj(g)

Options :

. o
K.=K_(RT) /2
40503641690, ¢ plR)

. 1_
K.=K_(RT)"2
40503641691, © p(RT)

K =K (R
40503641692, ° F’{ L

40503641693. _
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Question Number : 42 Question Id : 40503611497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT,

3 =
Fe,N(s) + EHl{g] — 2 Fe(s) + NH;(g) %

f?ﬂl’, -
Options :

; - _I"-\.
40503641690, e~ Rp(RD) 2

| §
K. =K. (RT)"2
40503641691, e~ Kp(R)

K =K (R
40503641692, F’{ L

| §
K =K. (RT)2
40503641693, e ph)

Question Number : 43 Question Id : 40503611498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Arrange the following solutions in the

decreasing order of pOH :
(A) 0.01 MHCI

(B) 0.01 M NaOH

(€) 0.01 M CH,COONa

(D)  0.01 M NaCl
Options :

40503641694, (B) > (D) >(C)> (A)

40503641695, (B) = (C) > (D) > (A)

40503641696 A) > (€) > (D) > (B)
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40503641697, ) > (D) >(C) > (B)

Question Number : 43 Question Id : 40503611498 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o faeraai %1 pOH % w2d %4 | =aaieaq
T |

(A) 0.01 M HCI

(B) 0.01 M NaOH

(€) 0.01 M CH,COONa

(D) 0.01 M NaCl

Options :
40503641694 (B) > (D) >(C)> (A)

40503641695, (B) > (C) > (D) > (A)
40503641696, (#4) > (C) > (D) > (B)

40503641697, (&) > (D) >(CQ) > (B)

Question Number : 44 Question Id : 40503611499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the following reactions
A—P1;B—>P2;C—P3; DY,

The order of the above reactions area, b, c,
and d, respectively. The [ollowing graph
is obtained when log[rate] vs. log[conc.] are

plotted :
+ [D]lH][ﬁ]
g .,;f"-!-f"'iif;
.'lll#
log [conc. | ?

Among the following, the correct sequence
for the order of the reactions is :

Options :

40503641698, € >a>b>d

40503641699, d>a>b>c

40503641700, 4> b>a>c

40503641701, @ >b>c>d

Question Number : 44 Question Id : 40503611499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

= afufe w fa=r T -
A—=Pl:B=P2:C—=P3:D—P4,
I AfIEFIS 1 FIf FHM: a, b, cd9d

gl log[=] %5 log[Tr=m] & =e ¥ 7=
AT WA Bl -

4 [D] i [B]/[IH

-

log [&L ]
Feg
a

-

log [HT=5T]
=1 4§ srfufsraneii =1 =ife & oo w2 w4
T‘e}l"ﬂ :
Options :
40503641698, ¢>a>b>d

40503641699, d>a>b>c
40503641700, 4> b>a>c

40503641701, @ >b>c>d

Question Number : 45 Question Id : 40503611500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Kraft temperature is the temperature :
Options :
below which the formation of
40503641702, micelles takes place.
above which the [ormation of

40503641703, micelles takes place.

below which the aqueous solution of

40503641704 ::iemrgems SIaTTs [TeCZIng,
www.FirstRanker.com
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above which the aqueous solution of

40503641705. detergents starts boiling.

Question Number : 45 Question Id : 40503611500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I 19 9% 19 € :

Options :

40503641702, ToTEeH = Tode =1 o 2 2 |

~ = - s = 3

40503641703, A FALT gt 1 Fmio 2 2
9% A Te==tsiz & 9oy Jeaa &1

40503641704, e (STHAT) WRH & S £4

fss T feetsiz & =iy faeea =
40503641705, ST IR B A F |

Sub-Section Number : 2
Sub-Section Id : 405036806
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611501 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In an estimation of bromine by Carius

method, 1.6 g of an organic compound

gave 1.88 g of AgBr. The mass percentage

of bromine in the cnmpound is

(Atomic mass, Ag=108, Br=80 g mol h

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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51t05.002

Question Number : 46 Question Id : 40503611501 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Firam fafa gm S F UF Ao H§ TF
FTEfe AMTH H1 1.6 g, AgBr F11.88 g Tl
21 dtfs § FrE w1 defq gfawmm 2

(Atomic mass, Ag =108, Br=80 g mol )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 47 Question Id : 40503611502 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of C1=0 bonds in perchloric

7 T S 4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 47 Question Id : 40503611502 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

TEAE ez | Cl=0 =i = 9& &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Pnna{l«\ln A oo

n .
Y TIOTICZTXIDYYYCT Y
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Question Number : 48 Question Id : 40503611503 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A spherical balloon of radius 3 cm
containing helium gas has a pressure of
48 x10~ 2 bar. At the same temperature,
the pressure, of a spherical balloon of
radius 12 cm containing the same amount
of gas will be %10~ © bar.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611503 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

3 cm B & UE MEMAE ﬂﬁﬁ H
48 x 103 bar =@ W Fferd T8 o4 71 34
a9 W, 12 cm 5= & e T H oS
HET 1 9 T T F1 T4 (millibar ) &
X 10~ € bar.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503611504 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The elevation of boiling point of 0.10 m
aqueous CrCl,.xINH, solution is two times
that of 0.05 m aqueous CaCl, solution. The
value of x is

[Assume 100% ionisation of the complex
and CaCl,, coordination number of Cr as
f, and that all NH3 molecules are present

inside the coordination sphere]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 49 Question Id : 40503611504 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.10 m &% Selld CrCl,xNH,; F1 F99i%
T, 0.05 m F Feld CaCl, faem %
FAIF I HT A E1 x H AN T

(W 941 CaCl, & &4 %1 100%, Cr Hi
= HE=A 6 991 NH, & 941 317 99=3
Tt 3 st St 2 1 )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 50 Question Id : 40503611505 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Potassium chlorate is prepared by the

electrolysis of KCl in basic solution
60OH +C17 — {_'IU_; + 31 12{_} + b e

If only 60% of the current is utilized in the
reaction, the time (rounded to the nearest
hour) required to produce 10 g of KCIO,

us.ing a current of 2 A is

(Given : F=96,500 C mol L. molar mass
of KCIO;=122 g mol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 50 Question Id : 40503611505 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AR faema § KCl & faga A9=ed g
Treferm iz &1 dan fFa e 2

60H + 17 —- Q05 +31,0+6e

sfuferan § AE 60% T 9/ wg 2 2
2 A Tae@ 91 %1 s9Em #3910 g KCIO,
= T F e fohan we g (99 ) s

=

15 S
(femn T & : F=96,500 C mol ~!; KCIO, #1
Hiel F2HA=122 g mol ~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002
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Mathematics
Section Id : 405036420
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036807
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The region represented by
z=x+iyeC :|z/—Re(z)=1} is also given
by the inequality :
Options :
3
Yy o=x+—
40503641711. =
i :[ "I
Uﬁ *:2' x4 o |
40503641712. 3 o
] b
40503641713, ¥ =X 1
P =2(x +1)
40503641714. ° :

Question Number : 51 Question Id : 40503611506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[z=x+iyeC: |z —Re(z)=1] 5 a4
=1 & I form s grn i oo = 2 2

Options :
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=

i =X

P | =

40503641711.

]
-

=
|
[35]
=
g
bJ | =

R

40503641712.

ud

W
=

40503641713.

i =2(x+1)
40503641714. '

Question Number : 52 Question Id : 40503611507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If « and B be two roots of the equation
x?2—64x +256=0. Then the value of

1 1+
9 o N
{u‘! 8 I {Iﬂj B _
B e 15 .
|:§5J. _:1'5 ),

Options :
40503641715, 1

=

40503641716.

[

40503641717.

(N ]

40503641718.

Question Number : 52 Question Id : 40503611507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e o T B, FHE 12— 6dx+256=0

X ttj 8 l53 ‘.1'8
A g E, ﬂi{igg'} | {:E;J FAFE :

L ,

Options :
www.FirstRanker.com
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40503641715, 1

=

40503641716.

)

40503641717.

(X

40503641718.

Question Number : 53 Question Id : 40503611508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The values of A and . for which the system
of linear equations

xty+z=12

x+2y+3z=5

x+3y+Az=p

has infinitely many solutions are,
respectively :

Options :
40503641719, 2 and 8

40503641720, +and 9
40503641721, b and 8

40503641722, 2 and 7

Question Number : 53 Question Id : 40503611508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AT F FHEY: 9F, T fow a9 A

Xry+z=
x+2y+3z=5
x+3y+hz=pn
Options :
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40503641719, ° T8

40503641720, * 719

40503641721, 6 A8

40503641722, 2 A7

Question Number : 54 Question Id : 40503611509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let m and M be respectively the minimum
and maximum values of
2 & 2 J
cos-x l1+sin“x  sin2x
9 g N
1+cos™x sin~ x sin 2x

5 I . 5
cos-x sin“x 1+sin2x

Then the ordered pair (m, M) is equal to :

Options :

40503641723, (=3 —1)
40503641724, (~33)
40503641725 (~% —1)
40503641726, (1:3)

Question Number : 54 Question Id : 40503611509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HET m 79T M

': . 2 -

cos  x 1+sin“ x sin 2x
¥ ¥ &
1+cos=x sin®x sin2x | .

N " oh, A

cos”x sin“x 1+sin2y

ITaq a1 AfaFan 99 ¥, @ w9
(m, M) == € :

Options :
40503641723, (—3 —1)

40503641724, | -3,3)

40503641725. (—4, 1)

40503641726, (13)

Question Number : 55 Question Id : 40503611510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two families with three members each and
one family with four members are to be
seated in a row. In how many ways can
they be seated so that the same family
members are not separated ?

Options :
23 A1
40503641727, 317 (4)

12 (41
40503641728, (317 (4)

i {41y
40503641729, - (4)

40503641730, 2 3! 4

Question Number : 55 Question Id : 40503611510 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
—Orientation——Vertieal

Correct Marks : 4 Wrong Marks : 1
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T o He= 91el © IREn 9491 9 "eE
ATE UE IHER % HEE] &1 U Ui | fa2m
&1 5% Torad ol 4 foemn =1 o & 5=t
T & Ian % 925 e 7 8 7

Options :

40503641727. (3™ (4)

2. 41
40503641728, ()7 (4)

i {41y
40503641729, > (4)

40503641730, 2 3! 4!

Question Number : 56 Question Id : 40503611511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If {p} denotes the fractional part of the
(3200
l., is equal to :

number p, then Jl

Options :

oo

40503641731.

o0 | =

40503641732.

o

40503641733.

|~

40503641734.

Question Number : 56 Question Id : 40503611511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 _
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Ifa |p}, T=A p F T9aTHF 9 (fractional
"y r o) = J %2"]:'[
part]ﬁ?ﬁﬂfﬂ%ﬁf TI,EFZTERS&'

Options :

oo | L

40503641731.

o0 | =

40503641732.

ARG

40503641733.

|~

40503641734.

Question Number : 57 Question Id : 40503611512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Leta, b, c, d and p be any non zero distinct
real numbers such that (a®+b?+c%)p* -
2 (ab+bc+cd)p+ (b +c+d*)=0. Then :
Options :
40503641735. d, h, C, d are in A.P.

40503641736, & & P areinG.P.

40503641737, b, ¢, d arein G.P.

40503641738, & & P arein A.P.

Question Number : 57 Question Id : 40503611512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ffaa,b,c, d 791 p HI5 i F9=1 94 arafa®

. b%'l%
(a2+b2+c?)p2-2(ab+bc+cd)p+
b2 +c2+d2)=0, B, @ :

Options :

40503641735. d, }J, C, d THIEE ﬂéj- i‘- %|

40503641736, & & P T g2 H T |

10503641737, 2D, € d TTOIR F H €

40503641738, 2 P SERMd

Question Number : 58 Question Id : 40503611513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o0

It flx +y)=/x) fiy) and 2 S02, &

yeN, where N is the set of all natural

f(4)

numbers, then the value of ﬁ is :

Options :

| b2

40503641739.

!_ﬁ].lH.

40503641740.

WO =

40503641741.

|

40503641742.
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

afe flx+y)=fx) fly) 70 Z}ﬂx]:‘?. W

yeN ¥, 5l N, |1 Wiha S 1 ag=ad
by

%J Gl % ETHFE%

Options :

| ko

40503641739.

hJ|F4.

40503641740.

WO | =

40503641741.

|

40503641742.

Question Number : 59 Question Id : 40503611514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(x=1)*

lim | 22 _
=1 (x—1)sin{x—1)

i F

t cos(t2)dt

Options :
40503641743, does not exist

40503641744, 1S equal to 1

M=

is equaI Lo
40503641745.

is equal to —

pd | =

AL L 41774

FUOoUS0%91 /590,
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Question Number : 59 Question Id : 40503611514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(x—1)°

lim | =2 _
r—1] (x—1)sin{x—1)

! i

L cos(t2)dt

Options :

40503641743. ki T

40503641744, 1 T T

F AT
40503641745.

M| =
S.{.-'
g

40503641746.

Question Number : 60 Question Id : 40503611515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The position of a moving car at ime  is
given by f(t)= at> +bt+c, t>0, where
a, b and c are real numbers greater than
1. Then the average speed of the car over

the time interval [t;,t;] is attained at the
point :
Options :

2a(t, +1,) +b
40503641747, 21T L)

2

40503641748, (L1 tk)/2
- 2

40503641749, (2~ 1)/2

40503641750, alla~H)+b
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Question Number : 60 Question Id : 40503611515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e TfaRiel S i ¢ {EE W R (position)
fily=atl+bt+c COTR A TEE, T a>1,
b>1 %1 ¢ > 1 arafa® €=A10 8, § 999
S [ty,L,] § FE 1 9w wfq = § 3§
o farmg ™ o Bt 27

Options :

Da(t, +t.) +b
40503641747, 2T L)

2
40503641748, (L1 T 1)/2

- >
40503641749, (27 4)/2

40503641750, alla—t)+b

Question Number : 61 Question Id : 40503611516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

; 100
If II:Jﬁ“ U} dy and

10

' m
Izzﬁ[l V) dx suchthatl,=al, then

a equals to:

Options :
5050

40503641751, 2001

5051
40503641752, 2090

5049
40503641753, 2020
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5050

40503641754, 2049

Question Number : 61 Question Id : 40503611516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

100
A 1= (1-2%) " dx 70

. 1 10 g
IE:L}[I xhu}l dx %ﬁqmml:=ull
%.,?ﬁ'um%:
Options :
5050

40503641751, 2001

5051

40503641752, 2090

5049
40503641753, 2090

5050

40503641754, 2049

Question Number : 62 Question Id : 40503611517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region
A={(x, y):|x| + |y| =1, 2%*= x|} is :

Options :
5
40503641755.

|

www.FirstRanker.com
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(o]

40503641757, 3

7
40503641758, ©

Question Number : 62 Question Id : 40503611517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&3 A= {(x, y)ix| + |yl =1, 22 = (x|} F
AFS (97 SIS ) 7
Options :
5
40503641755,

o | -

40503641756.

(o | =

40503641757.

o~

40503641758.

Question Number : 63 Question Id : 40503611518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The general solution of the differential

RN T P Y
(14x" 41 X xXy—-= :
equabion W y jd:r 1S :

(where C is a constant of integration)

Options :
1 f.,l'1+ 2_3
) a 1 _'L-_—
J1+y7 +-,~,'I'l+.1.'1=;]f:g{.l S———C
& | 1+x% 41
40503641759 \y
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,.)'1+;. il |
1|‘||-[+|I' —J]-I-x —-—1051 r_l
1\']""{ -1

+C

40503641760.

( 241
\‘|1+=,.a +,,.,'1+1 =—1C'E{ sl

1,.'1 + 1.— 1
40503641761.

40503641762.

Question Number : 63 Question Id : 40503611518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ATFA THF
O a2 A El‘l
"-.'II] Fx© U;E |.1"'le |.1'_lfd—j=ﬂ & =T+
X
Eﬁ%’:
(9l C U THEE 2797 &)
Options :
T 5
[ 7 3 14+x"=—1
-.,|II'I+3.r‘+V'|1+_1.":%!r:g{,{L |,+_rj +C
o= 1+x=+41
40503641759 L
' [ y1+x* +1
..ull'[+,r‘—\’]!+x =llngti J,__'-l i +C
- N+x—1
40503641760. S i
.f-,f1+:.-3+1x
‘.,‘|1+:.f +\..'1+1 _—1Ugli—1
= y1+x= =1
40503641761 :
| )
JI+E¢'_—JT+‘L"——JGBU|L”I]+C
- | 41+ +1
40503641762. Y '

Question Number : 64 Question Id =®Wé#&%§aﬂkg§t_@&{¥ype : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A ray of light coming from the point
.{2, 2./3) is incident at an angle 30° on the
line x=1 at the point A. The ray gets

reflected on the line ¥y =1 and meels r-axis

at the point B. Then, the line AB passes
through the point :

Options :

(4,-B)

40503641763

5

40503641764.

40503641765.

40503641766. (3, —3)

Question Number : 64 Question Id : 40503611519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(2, 2/3) ¥ I ST &5 YT &1 U fam
T x=1 W 30° & F W a5 A T AN
(incident) BT ® 99 W x=1 4 g &
FT x4 F g B W foewdt ®, o T AB
=1 © 9 T g 9 St ol &
Options :

(4,—3)

40503641763.

=

40503641764. :

3, L
J3

40503641765. www.FirstRanker.com
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40503641766. (3, —3)

Question Number : 65 Question Id : 40503611520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following points lies on the
locus of the foot of perpendicular drawn
upon any tangent to the ellipse,

-

g I L—1 from any of its foci ?
4 2 '
Options :

40503641767, "~ 1 V3

40503641768.

40503641769, \~1- 2

40503641770.

Question Number : 65 Question Id : 40503611520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks 01
i g smmfag, f?mq—d B ——Iaft

B2l wwwmmﬁmﬁmﬁwﬁ
Wi+ T =" % g % g vy o feew &2
Options :

40503641767\~ 1, 3)

2
40503641768. (1,2)

40503641769, \~1r ¥2)
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(-2, V3)
40503641770.

Question Number : 66 Question Id : 40503611521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let Ly be a tangent to the parabola
y?=4(x+1) and L, be a tangent to the
parabola y>=8(x +2) such that L, and L,

intersect at right angles. Then L; and L,
meet on the straight line :

Options :
40503641771, X¥1+2=0
40503641772, 2x +1=0

40503641773, X+ 2y=0

40503641774, XT3=0

Question Number : 66 Question Id : 40503611521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HAT Ly, TEed y2=4(x + 1) 1 TF 239 oG
%, 91 L, Waed y2=8(x +2) & TE O
T ¥ AR L, 99 L, WER weEd afaeed
F2dr 2, @ 3 = A 4 T v w et €, =9
T

Options :

40503641771, ¥+2=0

40503641772, 2x +1=0

40503641773, X+ 2y=0
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Question Number : 67 Question Id : 40503611522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines

.x l_yll_

0 T

and x+y+z+1=0,

= | Ea

x—y+z+3=0is:
Options :
40503641775.

=

T
h.}‘]| -

40503641776.

-

40503641777.

I~J|p—-l.

40503641778.

Question Number : 67 Question Id : 40503611522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L x1_y+l z
0 1 I?IEITI-U;Jr-z-’rI:{],
lr—y+z+3=lf]ﬁ?agfﬁ_'ﬁﬂfﬂﬂ@“%:

Options :
40503641775, 1

=1

40503641776. N <

1
40503641777. V3
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I~J|p—-l.

40503641778.

Question Number : 68 Question Id : 40503611523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
| LB (0 7
If }:. (x;—a)=n and :1-1 |x; —a) =na
1=1 =

r

(n, a > 1) then the standard deviation of n

observations Xy Koy iony Xy 182

Options :

nfa—1
40503641779, V1@ 1)
40503641780, @1

Ja—1
40503641781.

.
40503641782, a1

Question Number : 68 Question Id : 40503611523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

n A8 5
afg Y (x;—a)=n q@W 2. (x;—a)"=na

1Y 1=1
{ILal‘-*I}%J?ﬁn‘}%“ﬁx[,x?_,...,x"_ﬂr‘ﬂqﬂﬁ
oo & -

Options :

.
40503641779, V1@ 1)

r

40503641780, @~ 1

Ja—1
40503641781.
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.
40503641782, a1

Question Number : 69 Question Id : 40503611524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

QOut of 11 consecutive natural numbers if
three numbers are selected at random
(without repetition), then the probability
that they are in A.P. with positive common
difference, is :

Options :
15
40503641783, U1
3
40503641784, 32
8
40503641785, 101
10
40503641786, 07

Question Number : 69 Question Id : 40503611524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
11 FHFTT 91ha " § 9 afg o9 S
ez famn wfeearamn 3 faemredl st & & 59
T HEmE o+ FHal @1, e SEeen
ST ¢, § T 1 WITEsd © ;

Options :
15
40503641783, 1V1
5

70503641784
www.FirstRanker.com
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8
40503641785, 101

10
40503641786. £

Question Number : 70 Question Id : 40503611525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The negation of the Boolean expression
.F' v(~p~q) isequivalent to:

Options :

40503641787, 4

40503641788, F 74

40503641789, © 4

40503641790. F 4

Question Number : 70 Question Id : 40503611525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
97 % =A% (Boolean expression)
pv(~p~q) = U9 (Negation) F9 H &

e qoa 8 2
Options :
40503641787, P4

40503641788, F 7

40503641789 4

40503641790, F 74 .
www.FirstRanker.com
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Sub-Section Number : 2
Sub-Section Id : 405036808
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611526 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Set A has m elements and Set B has n
elements. If the total number of subsels of
A is 112 more than the total number of
subsets of B, then the value of m.n is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 71 Question Id : 40503611526 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

HﬂﬁlﬂAﬁﬂrﬂﬁmﬁl%mWBﬁn
999 71 Afe A F T+t STHg=E w1 9em,
B % Hff Sumg=wi #t wem ¥ 112 Afu ¥,
@ mnFHA € I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 72 Question Id : 40503611527 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Let f: R—R be defined as

(1)
| ¥ sin [— r5x2, x<0
'I o A
f(x)=y 0, =0
|5 1), ,.2
1~ cos —]4 Axs, x=0
i X

The value of A for which f"(0) exists, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 72 Question Id : 40503611527 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

HA f: R—R,

| '1 )
:xE'cns[—_|1 h.l‘z, x>0

SR ORI ¥ A 1 HE o fer 7 0)
Al 7, |

e —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 73 Question Id : 40503611528 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Let AD and BC be two vertical poles at
A and B respectively on a horizontal
ground. If AD=8 m, BC=11 m and
AB=10 m; then the distance (in meters) of
a point M on AB from the point A such
that MD2+ MC2 is minimum is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 73 Question Id : 40503611528 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
HAT AD A1 BC, éfaw gwae fa = o
AT B W MY |@e B |y ¥ Afe
AD=8 ¥, BC=11 . M AB=10 #l. &,
ABR g uws fag M &1, Mg A G a9e <0
(Hr=l #) fogs faw MD2 +MC2 &1 71
e E

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5to0 5.002

Question Number : 74 Question Id : 40503611529 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If a and b are unit vectors, then the

—  —3

a+ hl4

—3 3

a—h

greatest value of \,ﬁ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t0 5.002

Question Number : 74 Question Id : 40503611529 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

—

gfs a @91 b UFF Wi ¥,
3

—y =)

a+bltla-bl w1 Afywas v 2

|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 75 Question Id : 40503611530 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The angle of elevation of the top of a hill

from a point on the horizontal plane

passing through the foot of the hill is found

to be 45°. After walking a distance of

B0 meters towards the top, up a slope

inclined at an angle of 30° to the horizontal

plane, the angle of elevation of the top of
the hill becomes 75°. Then the height of
the hill (in meters) is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 75 Question Id : 40503611530 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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T TS F1 =912 F1 T9F 92 F & FT 91

T dfas g9ae W foum v fag m s

107 45° IrEn T | W fag  dfae 99 | 30°

1 TV TG §U a9 T UBTS I Al Hl AR

80 HieX HeT- o =1 =1l o IAG I 75° &

Fa1 ®, @ RS & e (ded ') #
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002
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